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1. a) Make a table of values and graph each parabola on the same grid for
~5=x=5.
y = x* y=x*+4 y=xt+7
y=xt—2 y=x2-15 y=x*+1
. b) Describe the effect of various values of g on the graph of y = x* + gq.
2. Which graph best represents each equation?
2 y=x+1 b)y=x2—-4 c)y=x2—-1 dy=x2+2
i) ii) iii) iv)
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3. Write an equation that could correspond to each graph.
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4. For each parabola state:
i) the direction of opening ii) the coordinates of the vertex
iii) the y-intercept iv)" the x-intercepts (if any).
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5. For each parabola state:
i) the direction of opening ii) the coordinates of the vertex
iii) the y-intercept iv) the x-intercepts (if any).

Q) y=x%+5 by=x*-3 c)y=x+2 dy=x*+4

Qy=x—-2 y=x2+1 y=x+4
b) y=x2—-1 y=x2-3 y=x+2

7. Find the equation of each parabola.
a) with vertex (0, 2) through (—3, 11)
b) with vertex (0, —9) and x-intercepts +3
¢) with vertex (0, 5) through (2, 9)
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Ax — Q1) = £pue (01 — 0 =4 (p

R©+quav=na+u®+~aua (o

-1 - =4Lpmez + (1 — 1) =4(Q

E—p+0)=4prl + (y + %) =4 (2
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1 a) Make a table of values and graph the equations on the same grid for
—5=x=3.
y=x y=3x y= %xz y=-—-x* y= —%xz y = —4x
b) Describe the effect on the graph of y = ax® as the value of a varies.

2. Which graph best represents each equation?
a) y = 5xa% b) y = 0.2¢ ' c)y—-—le2 d)y-—i’uc2
i) ii) iii)
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3. Sketch each set of parabolas on the same grid.

a) y = x* y=3x2 y=lx2
b) y = y=-x y=52 y= =3¢
o)y =2 y=%x2 y=—15%* y= —4x?
-~ dy=-—2* y= -;:xz y = 2.5x% y = —}ixz
4. Find the equation of the parabola with vertex (0, 0) which passes through each
point. '
a) (3, 18) b) 4, —16) c) 6, -9 d 2,24
5. Find the equation of the parabola with vertex (0, 0) which passes through each
point.
a) (2, —10) b) (3,5) c) (—35, %) dy (-V2, —6)
©-

6. The line 3x — y — 3 = 0 is tangentto 2 parabola which has vertex (0, 0) and
axis of symmetry the y-axis. Find the equation of the parabola.



